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Example (6) MESH ANALYSIS

Wirrite the mesh equations for th 6 ()
network in Fig. 6, and find the B t"\‘?ﬁv_ -
current 12 through the 7 Q r I, “l f I ‘*I
resistor L - ot
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Solution: + ml_ L _ﬂl| +
Step 1: 4V ) oV

Step 1: As Indicated in Fig. 6, each assigned loop current has a clockwise direction.

Steps 210 4: I: BA+6Q+20), — 2O, =4V
L; TQ+2MWL,— Q) =-9V

and lef, — 2, =4
—2I, + 9, = —9
which, for determinants, are
16 4
-2 =90 —144 + 8§ —136
and l, =1, = = =
16 —2 144 — 4 140
—2 0




Example (7)

Wirite the mesh equations fc

the network in Fig. 7

Solution:

Each window is assigned a loop current in the clockwise direction:

MESH ANALYSIS

II:

L: (1Q+20+3ML— AW — GWL=4V

;’3:

Summing terms yields :

BQ+4MIL -G+ 0=

[, does not pass through an element
mutual with 7.

IE—|_ 0—_
+ 0=2
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T L2 30 3 FIG. 7
| L+ |- N I
= 2o | 240
| I, - + I, i [ L |-
I, does not pass through an element
mutual with [ —l
AQ+1WL—UWL+0=2V -4V



Example (8) 10 ©) lon =13 MESH ANALYSIS
Wirite the mesh equations | _ _ _ _ _ _ _ - + _W\'_— ________
for the network in Fig. 8 | | :
and find the current 13 | 3 !
through the 10 2 | I, ,',
resistor B il A FIG. 8
_ T =-_ R A
f _L'| f _hl
+ | i+ -1 |+
R ’
=5V 1 | gf,_g ” zn:§
: | Ly |* 1,
Solution: N m e A . 2
I,: BQ+3MW, — @M, — BYL,=15V
L BQ+5Q0+20)L - B0, —5M,=0
Iy BQ+10Q+50— 8, —5ML=0
111, — 81, — 3, =15V
01, — 31, — 51, = 0 =31
o  23L,—8L,—5L,=0 —; 10 g
111, — 3,— 8I,=15V and Iy = [,pq = - = 1.22A
—31,+ 10, — 5L,=0 =3 =3
—81, — 5L, +231;=0 -3 10 =3
-8 -5 23




